
EB-2006-0606/615
IN THE MATTER OF the Ontario Energy Board Act, 1998, S.O. 1998, c.O.15, Sch. B;

AND IN THE MATTER OF Applications by Union Gas Limited and Enbridge Gas Distribution for  Orders approving or fixing rates for the sale, distribution, transmission and storage of gas commencing January 1, 2008.

TECHNICAL CONFERENCE QUESTIONS
FOR PACIFIC ECONOMICS GROUP

FROM THE SCHOOL ENERGY COALITION

Issue 1.1  What are the implications associated with a revenue cap, a price cap, and other alternative multi-year incentive ratemaking frameworks?
1. [R/5/7, page 2]  Please advise whether a rate freeze or percentage of inflation approach is a suitable method of adjusting for a utility’s relative inefficiecies or high prices.  If not, why not?  If so, please provide examples and a description of how these methods should be used.
2. [R/5/12, AltReg June 25/07 attachment, page 14]  How should be benefits of “lower regulatory costs” be factored into decisions about the type and structure of an IRM?  To what extent, if any, is the size of the utility a relevant consideration in assessing the value of “lower regulatory costs”?
3. [R/5/31]  Please recalculate the ADJs based on the split of the former M2 class into M1 and M2.  If this is not possible with a reasonable amount of effort, please provide your best professional judgment as to how this split can be taken into account in establishing the ADJ.

Issue 1.2  What is the method for incentive regulation that the Board should approve for each utility?
Issue 1.3  Should weather risk continue to be borne by the shareholders, and if so what other adjustments should be made?
Issue 2.1  What type of index should be used as the inflation factor?  Which should be used?
Issue 2.2  Should the inflation factor be based on actual or forecast?
Issue 2.3  How often should the Board update the inflation factor?
Issue 2.4  Should the gas utilities ROE be adjusted in each year of the incentive regulation plan using the Board’s approved ROE guidelines?
Issue 3.1  How should the X factor be determined?
Issue 3.2  What are the appropriate components of an X factor?
4. [R/3/48]  Please advise what what the impact would be of assuming, instead, that Enbridge currently has a below average level of operating efficiency.  Is there an algorithm or other rigorous method of adjusting the X factor to take into account the initial level of operating efficiency?   Is initial operating efficiency most appropriately reflected in the TFP estimate, the stretch factor, in some other way, or in combination?  What are the factors appropriate to determining the best way to deal with initial operating efficiency?
5. [R/5/2, page 2]  Please estimate the X factor that would be applicable to EGD based on the Y factors proposed by EGD.    
6. [R/5/12, Attach page 10]  Please advise whether the factors to be considered in setting the level of the stretch factor should include, if in fact correct, the fact that the utility in question has a) materially higher rates, or b) materially higher costs (ie. lower operating efficiency), relative to comparable utilities.

7. [R/5/12, Attach page 19, and R/3/45, page 14]  To what extent, if any, is the “slow productivity growth of Enbridge” the result of, or related to, the regulatory regime under which it has been operating for the period covered by your data (ie. primarily annual cost of service)?  To what extent, if any, is it possible to forecast or estimate the level of productivity increase of Enbridge that would result from a change in the regulatory regime under which it will operate in the future?

8. [R/5/12, AltReg June 25/07 attachment, page 9]  PEG notes that “regulatory lag strengthens performance incentives”.   Is it possible for PEG to measure the extent to which the difference in regulatory lag between Enbridge and Union has resulted in different levels of productivity over the period of the historical data set used?

9. [R/5/12, AltReg June 25/07 attachment, page 13]  What are the ways in which the “prices of other utilities” can be used to establish rates or establish rules for setting rates, e.g. X factor calculations?
Issue 3.3  What are the expected cost and revenue changes during the IR plan that should be taken into account in determining an appropriate X factor?
Issue 4.1  Is it appropriate to include the impact of changes in average use in the annual adjustment?
Issue 4.2  How should the impact of changes in average use be calculated?
Issue 4.3  If so, how should the impact of changes in average use be applied?
10. [R/5/35]  If the declining average use of non-residential customers in the general service classes is materially different from the declining average use of residential customers, how should Union deal with average use in the context of its classes M1 and 01 (which include both residential and non-residential customers), and M2 and 10 (which generally include only non-residential customers)?  
Issue 5.1  What are the Y factors that should be included in the IR plan?
Issue 5.2  What are the criteria for disposition?
Issue 6.1  What are the criteria for establishing Z factors that should be included in the IR plan?
Issue 6.2  Should there be materiality tests, and if so, what should they be?
Issue 7.1  How should the impact of the NGEIR decisions, if any, be reflected in rates during the IR plan?
Issue 8.1  What is the appropriate plan term for each utility?
Issue 9.1  Should an off-ramp be included in the IR plan?
Issue 9.2  If so, what should be the parameters?
Issue 10.1  Should an ESM be included in the IR plan?
Issue 10.2  If so, what should be the parameters?
Issue 11.1  What information should the Board consider and stakeholders be provided with during the IR plan?
Issue 11.2  What should be the frequency of the reporting requirements during the IR plan?
Issue 11.3  What should be the process and the role of the Board and stakeholders?
Issue 12.1  Annual adjustment.
Issue 12.2  New energy services.
Issue 12.3  Changes in rate design.
Issue 12.4  Non-energy services.
Issue 13.1  What information should the Board consider and stakeholders be provided with at the time of rebasing?
Issue 14.1  Are there adjustments that should be made to base year revenue requirements and/or rates?
11. [R/5/29, page 1]  Please describe how sharing of benefits “through a reduction of initial rates” is done.
Issue 14.2  If so, how should these adjustments be made?
Issue: CIS/Customer Care Application.  
General Questions
Respectfully submitted on behalf of the School Energy Coalition this 1st day of October, 2007.
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